

Rikky & Mall Â

06/28/2025 09:00 AM | Delivery day 1 06/29/2025 09:00 AM | Delivery day 2 06/29/2025 05:00 PM | Event Date 06/30/2025 09:00 AM | StRike PO: Shipping Address: Beverly Hills Hotel Crystal ballrom Invoice Date: April 11, 2025 Due Date: Upon Receipt

Salesperson: Romina Manolio

| Description | | Qtty | Price | | Total |
|-----------------|---|------------------------------|------------|---|------------|
| Landing and Sta | air Case | | | | |
| T | Dining Tables - Manchester - Dark Wood To Be used as Seating Card 8âN 🖟 4âN 🖟 30âN 🕦 | 1 | \$718.75 | Т | \$718.7 |
| | Double Sided Pullbacks for Lower Landing - Ivory Two Tone Chiffon 25'x 12'H Linear Feet (this is Space Size) with Valance with gold tassles | 1 | \$1,250.00 | Т | \$1,250.00 |
| | Buffets & Display Tables - Tuscany - Round Small To be used with Manchester for Seating Card Table 42"Diam x 40"H | 1 | \$225.00 | Т | \$225.00 |
| | Buffets & Display Tables - Tuscany - Round Medium To be used with Manchester for Seating card Table 48"Diam x 40"H | 1 | \$237.50 | Т | \$237.50 |
| | | Total Landing and Stair Case | | | \$2,431.2 |
| Cocktail Hour | | | | | |
| | Bars - Cabo San Lucas - Straight 8' Bar Painted Mahogany Off Boradway High Gloss Finish - With 2 quatrefoils Matching Building Front Top Clear 8'W x 39"H | 1 | \$1,875.00 | Т | \$1,875.00 |
| | Etagere Booke Shelf | 2 | \$450.00 | Т | \$900.00 |
| | Custom Made Top Hat With Custom Printed fabric on Ivory Como Velvet | 1 | \$8,500.00 | Т | \$8,500.00 |
| | Fabric Treatment- Pullbacks on Windows Fabric Treatment in Ivory two tone chiffon with valance 80'x 12'H with gold tassels 24"H Valance in Ivory dupioni with 2" Line Detail in jade como Pullback to be double sided | 1 | \$3,125.00 | Т | \$3,125.00 |
| | Fabric Treatment to Cover Entrance wall to Ballroom 35'x12'H With Valance in Double sided Two Tone Chiffon Ivory with backing with Gold Tassels - Valance in Ivory dupioni with Details in jade como | 1 | \$1,875.00 | Т | \$1,875.00 |
| P | Accent Table - Savannah - Mirror Top & Gold Faux Bamboo 30"W x 19"L x 20"H | 4 | \$75.00 | Т | \$300.00 |

| Description | | Qtty | Price | | Total |
|------------------|--|------|--------------------|-----|-------------|
| | Dining Chairs - Palermo - Amber Ivory Cushion 16"W x 19"L x 36"H - Seat Cushion Cover Color Upon Request | 20 | \$23.75 | Т | \$475.00 |
| | Ottomans - Standard Pod Ivory Como velvet 18"RND x 17"H - Cover Color Upon Request | 8 | \$37.50 | T | \$300.00 |
| | Mix and Match pillows for Top Hat IN Peach and Ivory | 8 | \$43.75 | T | \$350.00 |
| | Bar Cover - Beverly Hills Hotel Existing Bar Custom Covers Bar Cover - Beverly Hills Hotel Bar Custom Cover - Tuscany Painted in Mahogany - Off Broadway High Gloss,, Top with Clear Coat 9'7"L x 43"W - Custom @ Bh Hotel | 1 | \$1,100.00 | T | \$1,100.00 |
| | | | Total Cocktail H | our | \$18,800.00 |
| Ceremony | | | | | |
| | Accent Table - Aspen - Carved Wood 24"W x 24"W x 24"H | 1 | \$136.56 | T | \$136.56 |
| W | Small Dining Tables - London - Dark Wood | 1 | \$359.38 | T | \$359.38 |
| | | | Total Cerem | ony | \$495.94 |
| Reception - Drap | pe | | | | |
| | Custom Made Truss Covers (4) 12" x 12" x 15"H in Ivory with velcro | 1 | \$187.50 | Т | \$187.50 |
| | Fabric Treatment in Two tone Chiffon With Backing Pullbacks To Cover Double Sided on Side of Bars con valence regular - 3- Mirror Coves / 3 | 1 | \$3,125.00 | Т | \$3,125.00 |
| | entrance Covers / 2 Niches Coves with Tie backs in Jade Como | | | | |
| | | Tot | al Reception - Dra | ape | \$3,312.50 |
| Reception Furnit | ture and Bars | | | | |
| W | Small Dining Tables - London - Dark Wood For Cake 36â\\ \textrm{\text{N}} \ \text{rnd} 30â\\ \text{\text{N}} \ | 1 | \$359.38 | Т | \$359.38 |
| | Dining Table - Las Vegas - Mirror Top Square 72" With Custom Ivory Como velvet Skirt with pleats in Jade Como Velvet 72"W x 72"L x 31"h | 5 | \$937.50 | T | \$4,687.50 |
| | | | | | |

| Description | | Qtty | Price | | Total |
|-----------------|---|-------------|-----------------|-----|-------------|
| | Dining Chairs - Washington - Gold/blush In Ivory to Be used with the square tables 19"W x 23"L x 37"H | 55 | \$23.75 | T | \$1,306.25 |
| | Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 39"L x 30"H | 7 | \$375.00 | Т | \$2,625.00 |
| | Lumbar pillow for Banquettes Jade como with ivory piping | 14 | \$43.75 | Т | \$612.50 |
| Fi | Dining Chairs - Florence - White W/armrest & Wood Frame For Hora 27"W x 23"L x 40.5"H | 2 | \$27.31 | Т | \$54.63 |
| | Bars - Tuscany - Straight 8' Painted Mahogany Off Broadway High Gloss, Top in Clear - With Insert In Mirror (not Antique) 8'W x 40"L x 40"H | 2 | \$1,237.50 | T | \$2,475.00 |
| | Barback - Nantucket - Wood Small Painted in Mahogany - Off Broadway High Gloss 4' x 18" x 5' H - Custom Color Upon Request | 2 | \$306.25 | T | \$612.50 |
| | Club & Lounge Chairs - Pasadena - Ivory Velvet 3'W x 3'L x 29"H | 8 | \$343.75 | Т | \$2,750.00 |
| | Accent Tables - Acacia Wood & Metal W/ White Marble Top 9"1/2 Diam x 22"H | 4 | \$175.00 | T | \$700.00 |
| | Tota | I Reception | Furniture and B | ars | \$18,057.75 |
| Reception Stage | | | | | |
| | Dj Booths - Santa Barbara - Moulding - Multicolor Painted in Mahogany Off Broadway High Gloss 47"W x 25"D x 48"H - Custom Color Upon Request | 1 | \$675.00 | Т | \$675.00 |
| | Custom Made Band Fronts (4) 33" (3) 41" See Drawing - Painted in Mahogany Off Broadway High Gloss Molding same as santa barbara booth Top with small lip | 7 | \$187.50 | Т | \$1,312.50 |
| | Custom Made Stage treatment to recreate hotel Mirror wall Stage size is 29' x 13'H NEW panels 8'x 12'6" with plexi mirror and molding like existing mirror - SEE DRAWING | 1 | \$8,500.00 | T | \$8,500.00 |
| | 32' x 13'H Draping Behind Stage Backdrop In Ivory two tone chiffon with valance 32' x 24"H | 1 | \$0.00 | Т | \$0.00 |
| | Stage Front - Tuscany - W/ Mirrors 6'w X 32"h Painted in Mahogany Off Broadway High Gloss with Mirror 6'W x 32"H | 6 | \$137.50 | Т | \$825.00 |

| Description | | Qtty | Price | | Total |
|---|--|------|------------------------------------|------------------|--------------------------|
| | Stage Front - Tuscany - W/ Mirrors 4'w X 32"h Painted in Mahogany Off Broadway High Gloss With Mirror 4'W x 32"H | 2 | \$112.50 | Т | \$225.00 |
| | Corners for Tuscany Stage Front Painted in Mohagany Off Broadway High Gloss | 2 | \$0.00 | Т | \$0.00 |
| | | To | Total Reception Stage | | \$11,537.50 |
| Reception | | | | | |
| | Panels - Beverly Hills Hotel Balcony Cover - Silver Mirror Plexi | 1 | \$3,500.00 | Т | \$3,500.00 |
| | Custom 72" Round Velvet Table Linen - jade como Velvet | 10 | \$312.50 | Т | \$3,125.00 |
| | Dinner Napkins- Jade Como As sample For Round and square onlyTables | 175 | \$15.00 | Т | \$2,625.00 |
| | Dancefloor 32'x 28; in Ivory with Gold Decals Borders | 1 | \$11,125.00 | Т | \$11,125.00 |
| | | | Total Recepti | on | \$20,375.00 |
| Services | | | | | |
| | Delivery Day 1 Saturday | 8 | \$650.00 | | \$5,200.00 |
| | Delivery Day 2 Sunday And Event Day | 8 | \$650.00 | | \$5,200.00 |
| | Steike Team | 8 | \$650.00 | | \$5,200.00 |
| | Transportation | 3 | \$375.00 | Т | \$1,125.00 |
| | Flame Proofing and Fire permit | 1 | \$1,200.00 | | \$1,200.00 |
| | Manager on site - Presentation and Diagrams | 1 | \$6,500.00 | | \$6,500.00 |
| | Delivery installation and Strike Dance floor | 1 | \$800.00 | | \$800.00 |
| Please make che | cks payable to Revelry, Inc. | | Total Produc | ets: | \$75,009.94 |
| Note: Prior to deliveries and pick-ups all invoices must be pay in full | | | abor/Services/Mi | | \$25,225.00 |
| | Please ready the contract and sign it | | Wear & Tear (4.00 Packing (2.00 | • | \$3,000.40 \$1,500.20 |
| Notes | | | Taxe | • | \$7,232.82 |
| | | | Discour | ıts: | (\$0.00) |
| | | | | tal: | \$111,968.35 |
| | | | Paymer Balan | | (\$0.00) \$111,968.35 |
| | | | Daidli | ∪ C . | 55.00ج,۱۱۱ټ |